
SPARE PARTS
WORKBOOK



Striker Bar & Spinnaker Pole Parts

1
22

2
2

2
3

4

9
10

11

16 9
12

13

14

18

15

6
7

7

17

8
9

9

6
7

5

8

8

19

21

24

23

20

25

22

Number Description Product Code

1 RS CAT16 Spinnaker Sock C16-HF-100
2 RS CAT16 Spinnaker Pole Bridle Wires C16-SP-902
3 STF Marine 5x25mm Clevis Pins and Split Rings ST-O0525
4 RS CAT16 Jib Furler (Bottom) C16-SP-907
5 Selden Ball Bearing Block 30mm: Single With Becket P403101SBK
6 Harken Spring: 19mm Diameter 25mm Long H097
7 Rivet Monel 4.8 x 12 FIX-R48-M12
8 Eye dinghy forestay small 508-089-01
9  6x20mm Clevis Pins and Split Rings ST-O0620

10 RS CAT16 Striker Bar Assembly C16-HF-101
11 RS CAT16 Striker Bar Clevis Pin C16-HF-102
12 Clevis Pin 8x20mm TBC
13 Pozzi pan machine screw M6 x 16 FIX-B6-P16
14 RS CAT16 Bow Eye C16-HF-903
15 RS Tera Top Mast End Plug TER-SP-907
16 RS CAT16 Gennaker Pole Strops C16-SP-910
17 Selden Ball Bearing Block 30mm: Single P403101SIN
18 RS CAT16 Spinnaker Pole C16-SP-500
19 STF Marine 5x15mm Clevis Pins and Split Rings ST-O0515
20 RS CAT16 Striker End C16-HF-104
21 RS CAT Striker Bar Attachment Shackles C16-HF-105
22 RS Feva/Vareo/200 Bowsprit Outboard End Cap RSM-SP-902
23 STF Marine 6x20mm Clevis Pins and Split Rings ST-O0620
24 RS CAT Pole Bridle Wire Attachment Shackle C16-HF-106
25 Gottifredi Ma�oli Compact 12 4mm Black KDB+B6:C2804B



RS CAT16 Hull Parts

16 17 9

10

12

13

11

14

15

20

19
18

22

21

5

5

6

6

3

1

1 

4

2

7

8

Number Description Product Code

1 RS CAT16 \ RS Quest Transom Gudgeon (Plastic - With Lock) C16-HF-502
2 Pozzi Pan Machine Screw M6 x 60 FIX-B6-P60
3 RS APB Transom Bung RSM-HF-501
4 Pozzi Pan Machine Screw M6 x 65 FIX-B6-P65
5 RS CAT16 Transom Gudgeon Backing Plate MK1 Hull C16-HF-503
5 RS Quest \ RS CAT16 Transom Gudgeon backing Plate MK2 Hull C16-HF-504
6 Nyloc M6 FIX-N6-006
7 SPACER TUBE L=38, RS CAT \ RS Quest 480-385
8 SPACER TUBE L=47, RS CAT 480-386
9 Allen Forged Shackle 5mm Pin 11x19mm A5405S

10 Allen 60mm Pro Ratchet Block A2160
11 STF Marine 6x20mm Clevis Pins and Split Rings ST-O0620
12 RS CAT16 Shroud Adjuster c16-hf-301
13 RS CAT16 Shrouds (Pair) C16-SP-904
14 Selden Shroud Cover: Black 319-777
15 RS CAT16 Under Gunwhale Recess Bar (Size M8) C16-HF-900
16 RS CAT16 Shroud Eye Bolt C16-HF-901
17 Allen Forged 6mm Bow Shackle A-622106
18 Selden Hatch 100mm Black - RS Quest/ RS Cat16 RSM-HF-904
19 CSK pozzi screw 8 x 3/4 FIX-S8-C03
20 RS CAT16/ Quest Transom Plate- Full length, External Facing C16-HF-505
21 Pozzi pan machine screw M6 X 12 FIX-B6-P12
22 RS CAT16 Bow Eye C16-HF-903



RS CAT16 Front Beam Parts

4

7
8

9 6

3

10
4

12

18

19

11
22
21

20

2
5

1

2

3

4 5
7

6 9

8
10

4

12
13

14

15

16
17

18

19
1

Number Description Product Code

1 King�sher Shockcord 4mm: Black KS304BLK
2 RS CAT16 Beam End Cap C16-HF-402
3 Cat 16 Front Beam Bolt M10 x 110mm Hex FiX-B10-110
4 Washer M10 Penny FIX-W10-001
6 RS CAT16 Under Gunwhale Recess Bar (Size M10) C16-HF-902
7 Pozzi pan screw 8 x 3/4 FIX-S8-P02
8 RS CAT16 Main Beam (Front) C16-HF-401
9 RS CAT16 Under Gunwhale Recess Bar (Size M10) C16-HF-902

11 Selden Deck Clip Standard P50847601
12 Cat 16 Front Beam M10 x 190mm Hex Head FIX-B10-190
13 Rivet Monel 6.4 x 18 FIX-R64-M18
14 RS Cat 16 Mast Step C16-HF-406
15 Rivet Monel 4.8 x 12 FIX-R48-M12
16 Clamcleat Racing Micro Cleat CL268
17 Selden Eye Swivel 27 P43361101
17 Spinlock PXR Cam Cleat Swivel 2- 6mm Line EX1846
18 Selden Lacing Eye 38mm 508-019
19 Rivet Monel 4.8 x 12 FIX-R48-M12
20 40mm Dynamic Block Swivel with becket and A.677 cam cleat A2043-677
21 Allen Forged Shackle 5mm Pin 11x19mm A5405S
22 Harken Spring 25mm Diameter 51mm Long H071



RS CAT16 - Rear Beam Parts

511

10

8

9

7 4

3

2

19

21

13

12

18

14 14

20

2322

24
1 2

11

4

3

5

10

9

8

12 14

17
16

18

15

13
14

7

6

6

6

13

14 14

22 23

13

14

13

14

Number Description Product Code

1 RS CAT16 Beam End CapRS CAT16 Beam End Cap C16-HF-402
3 Cat 16 Rear Beam Bolt M10 x 100mm Hex Head FIX-B8-115
4 Washer M10 Penny FIX-W10-001
5 Pozzi Pan Screw 8 x 3/4 FIX-S8-P02
6 RS CAT16 Under Gunwhale Recess Bar (Size M10) C16-HF-902
8 Washer M10 Penny FIX-W10-001
9 Cat 16 Rear Beam Bolt M10 by 170mm Hex Head FIX-B10-170

10 CSK Pozzi Screw 10 x 1 FIX-S10-C01
11 RS CAT16 Traveller End Stop Cap (Upgraded) C16-HF-411
12 Rivet Monel 4.8 x 18 FIX-R48-M18
13 Selden Lacing Eye 38mm 508-019
14 Rivet Monel 4.8 x 12.9 FIX-R48-M12
15 Allen Forged Shackle 5mm Pin 11x19mm A5405S
16 A205850mm Triple/Ratchet/Block and Cleat A2058
17 50mm Triple Block with Swivel Hook A2054HK
18 RS CAT16 Mainsheet Car C16-HF-404
19 Allen 30mm Dynamic Block: Single A2030
20 King�sher Shockcord 4mm: Black KS304BLK
21 RS CAT Mainsheet Track C16-HF-407
22 CL273Clamcleat Racing Sail Line Cleat (Port) CL273
23 CL241Clamcleat Racing Sail Line Cleat (Starboard) CL241
24 RS Cat 16 Rear Beam Assembly C16-HF-405



RS CAT16 - Trampoline & Parts

6

2

8

4

4

1 1
1 1

3

5

5

5

5

8

7

7

Number Description Product Code

1 RS Cat16 Trampoline Replacement Batten Set C16-HF-904
2 RS CAT16 Rear Tramp Tie C16-WEB-005
3 Allen 30mm Dynamic Block: Single With Shackle Swivel A2030SC
4 Clamcleat Aero \cleat with CL270 Racing Micros with Becket CL828
5 RS CAT16 Side Tramp Tie C16-WEB-001
6 RS CAT16 Trampoline C16-HF-400
7 Allen 30mm Dynamic Block: Single A2030



RS CAT16 - Mast & Parts

15
16

17

4

4

4

4

4
4

134 14

4 10

9
18

19

7

1

2
4 5

6 4

8

11

12

20

21

Number Description Product Code

1 8 x 22mm Pin 
2 Allen Forged 6mm Bow Shackle A-622106
3 Selden Plain Sheave 35/8/10mm (Aft Outer Sheave) 504-362
4 Rivet Monel 4.8 x 12 FIX-R48-M12
5 RS CAT Masthead Box C16-SP-912
6 Allen P Clip Looped S/S Lacing Eye A4035
7 King�sher 8 Plait PreStretch 5mm: Black KPS05BLK
8 Gottifredi Ma�oli Compact 12 4mm Black KDB04B
9 Seasure Stainless Steel Ring Small S0710

10 RS Cat 16 Mast Sail Feeder 505-535-01
11 Allen Forged Shackle 4mm Pin 9x15mm A5404S
12 Allen 30mm Dynamic Block: Single With Shackle Swivel A2030SC
13 Clamcleat Side Entry Cleat (Starboard) MK1 CL217MK1
14 RS CAT16 Mast Complete C16-SP-100
15 RS CAT Mast Heel Plug C16-SP-914
16 Allen Forged D Shackle 6mm A-621106
17 20MM TRIPLE DYNAMIC BLOCK NO BECKET A2027NB
18 Gottifredi Ma�oli Evolution Race 5mm: Black KKD05BLK
19 Allen 20mm Dynamic Block: Double with Becket and Hook A2023HK
20 Eye dinghy forestay small 508-089-01
21 RS CAT Forestay Attachment Fitting C16-SP-913
22 RS CAT16 Main Halyard C16-WEB-003



RS CAT16 Rigging

1

2

3
4

3

2

5

6
7

8

10

11

12

9

13

14

15

17

16

Number Description Product Code

1 Selden 8mm Bow Shackle 307-026
2 RS CAT16 Trapeze Wires (Pair) excluding Cleats and Rings C16-SP-915
3 RS CAT16 Shrouds (Pair) C16-SP-904
4 RS CAT16 Jib Strop C16-SP-905
5 8 x 22mm Pin TBC
6 RS CAT16 Jib Furler (Top) C16-SP-909
7 6 x 35mm Clevis Pin and RIng TBC
8 RS CAT Jib Halyard Sheave Box C16-SP-916
9 Selden Plain Sheave 21/4.2/9mm (Front Sheaves) P504360

10 STF Marine 5x18mm Clevis Pins and Split Rings ST-O0518
11 STF Marine 6x20mm Clevis Pins and Split Rings ST-O0620
12 RS CAT16 Forestay C16-SP-901
13 Seasure Trapeze Disc S2097
14 Allen Forged Shackle 5mm Pin 11x19mm A5405S
15 Clamcleat Trapeze and Vang Cleat CL253
16 Allen B/B Trapeze Ring Wide A4261
17 RS CAT16 Twin Trapeze Kit C16-UA-200
17 20MM TRIPLE DYNAMIC BLOCK NO BECKET A2027NB
18 Gottifredi Ma�oli Evolution Race 5mm: Black KKD05BLK
19 Allen 20mm Dynamic Block: Double with Becket and Hook A2023HK
20 Eye dinghy forestay small 508-089-01
21 RS CAT Forestay Attachment Fitting C16-SP-913
22 RS CAT16 Main Halyard C16-WEB-003



RS CAT16 - Rudder Stock Parts

1

2

3 12

11

5

12

11

6

10

10

7

4

1413

15

15

16

16

20

8

20 9
17 20

18
19

13

3

Number Description Product Code

1 APB Rudder Blade Replacement Bottom Tip rsm-fo-909
2 RS CAT16 Rudder Blade C16-FO-100
3 RS CAT16 / RS Quest Rudder Stock Bush C16-FO-902
4 Rudder Stocking ('C' Shaped Part) - RS CAT & Venture Connect RSM-FO-305
5 RS Cat/ RS Quest Rudder Blade Top RSM-FO-912
6 RS CAT16/Quest/Connect Kick up handle C16-FO-903
7 RS CAT Tiller  (Port - C16-FO-904) or (Starboard C16-FO-905) C16-FO-904/5
8 Selden Tiller Extension UJ CA0015
9 RS CAT16 Connecting Bar C16-FO-901

10 Lower Rudder Blade Guide CAT/CONNECT RSM-FO-908
11 Nyloc M8 FIX-N8-008
12 Pan Head Machine Screw M8 x 40 FIX-B8-P41
13 RS CAT16 / RS Quest Rudder Stock Casting Spring RSM-FO-916
14 King�sher Shockcord 5mm: Black KS305BLK
15 RS CAT16 / RS Quest Rudder Stock Casting Spring RSM-FO-916
16 CSK machine screw M5 x 12 FIX-B5-C12
17 Selden Tiller Extension 1.45M (RS CAT16) RSM-FO-911
18 Rivet Monel 4.8 x 12 FIX-R48-M12



RS CAT16 Sails | Covers | Trailers

1

2

3

4

7

8

9

10

5
6 

Number Description Product Code

1 RS CAT16 Mainsail C16-SA-101
2 RS CAT16 Jib C16-SA-200
3 RS CAT16 Spinnaker C16-SA-300
4 RS CAT16 Batten Set C16-SA-901
5 North Sails Batten Adjuster Key RSM-SA-908
7 Hyde Sail Bag 2.75m LDCSB31
8 Hyde Sail Bag 2.05m LDCSB2
9 Hyde Spinnaker Bag RSM-SA-906
10 RS CAT16 Top Cover C16-CO-100
11 RS CAT16 Trampoline Cover C16-CO-101
12 RS CAT16 Launching Trolley (wide wheel) C16-TR-100
13 RS CAT16 Road Trailer C16-TR-103
14 RS CAT16 Road Trailer Storage Box C16-TR-900
15 RS CAT16 Bow Protector (Pair) C16-UA-100



Rope Lengths

RS Cat16 S Rope Pack
Length (m) Size (mm) Description Qty Rope type Colour

10.5 8 Mainsheet 1 Evo Sheet Black
2 6 Traveller 1 Evo Race Red
9 4 Jib Halyard 1 Evo Race Silver
3 4 Rear Tramp Tie 2 8plt Pre Stretch Black
1 4 Toe Strap Tie 2 8plt Pre Stretch Black
9 6 Jib Sheet 1 Evo Sheet Silver

3.3 5 Downhaul 1 Evo Race Blue
5.4 5 Trapeze Shockcord 1 Shockcord Black
5 8 Righting Line 1 Evo Sheet Yellow
5 4 Side Tramp Tie 2 8plt Pre Stretch Black
1 3 Forestay Tie 1 Compact Braid 78 Dyneema anthercite

0.2 4 Trapeze Elastic Ring Retainer 2 8plt Pre Stretched Black

RS Cat16 XL Rope Pack

Length (m) Size (mm) Description Qty Rope type Colour
17.5 5 Spinnaker Halyard 1 Evo Race Magenta
0.9 4 Rear Spinnaker Chute Tie 1 Compact Braid 78 Dyneema Anthercite

0.65 5 Spinnaker Chute Halyard Take Up 1 Shockcord Black
0.28 3 Spinnaker Chute Mouth Short 2 Compact Braid 78 Dyneema Anthercite
0.34 3 Spinnaker Chute Mouth Medium 2 Compact Braid 78 Dyneema Anthercite
0.52 3 Spinnaker Chute Mouth Long 1 Compact Braid 78 Dyneema Anthercite
15 8 Spinnaker Sheet 1 Evo Sheet Black
0.4 4 Spinnaker Sheet Block Tie 2 Compact Braid 78 Dyneema Anthercite
3.8 4 Spin Halyard Take Elastic 1 Shockcord Black
0.7 5 Spinnaker Block Hanger Horizontial 1 8plt Pre Stretched Black
1.1 4 Spinnaker Block Hanger Vertical 1 Compact Braid 78 Dyneema Anthercite

0.95 4 Chute Pole/Striker Rope 1 Compact Braid 78 Dyneema Anthercite
2.65 4 Spinnaker Pole Tack Line 1 Evo Race Black




